
Secondary Puzzle Page – Solutions 

 

NOT A ZERO 

 

What is the last non-zero digit of 257×34×553 ? 

 

This problem is taken from the UKMT Mathematical Challenges. 

 

 

 

 

SOLUTION 

 
Answer: 6  
 
 
The zeros on the end of the number are caused by factors of 10 .  
 
257×34×553 =24×34×253×553=24×34×1053=64×1053  
 
Last non-zero digit comes from 64  
 
61=6  
62=36  
63= ...6  

64= ...6  

 

This means the last non-zero digit will be a 6 . 

 

This problem is taken from the UKMT Mathematical Challenges. 

 

http://www.ukmt.org.uk/
http://www.ukmt.org.uk/

